RSB S— kil s

W 0 2EEe

e

CRAEAFREL s(x) =1 - 50, 0<2 <105, 35
L A2 UAE 60 25 70 4 2 [FET-HHESR
2. 60 Z AT 70 & DARIFE T IR ;
3. 50 I NRENE 2] 70 & B
4. 50 ZHYNAE 60 4 5] 70 %7 [RISETHIRER .



2 BiGManEk

G THIA R, HERPIEHE .

z | Qo | dg
60 | 1000 | 0.020
61 31
62 32
63 29
64 0.028




3 AArER AKX

BV Pr[6 < T(60) < 7] = 0.2185, Pr[T(60) > 6] = 0.9394, K qg6-



4 RIS tn

KK HIIEE, ot iR s 3



5 NGB RFIE R

B e = 1+x,33200 oK
Lo X B AT R A0S 25 B R A
2. T(x) WA AFFeREL S % B R A
3. 105930

4. P75 Al 30 B P A



6 AL
I
izt
JrhE%
0, %
9 rl:li':le
IAEFFREL, B
v BRI
P
Far IRk =
o



7 EXCEL Y4

1E. AMA N EXCEL 4%, 35 il [H#d.

e E TR e g vk (2010-2013) 55 (CL1L) (RIER{FGIREES 25 F573 B A i) A=
%), FIH EXCEL THREEAMER I EFAMR . AR JET BRI 4, ik 0 % i)
AT AN ELh 10000


https://yuanzhuang.xyz/uploads/TA/Basic_Actuarial_Science/Life_Table/CL1.xlsx

8 TEArHER
CIF A

K 2|3960 °

Az

60

0.001

61

0.002

62
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